CE

Single Axis Robots RSD2 - Rod Type Complat

SINGLE AXIS ROBOT (®See notes on CE Marking.2S P49

CAD Data Folder Name: 07_Actuator

When placing order, select part numbers and values by proceeding through Selection Steps @~@. Part Number Selection
Type @ Lead (mm) | @ With or w/o Brake (1) | € Motor Mounting Direction | @ Controller (92) | @ 1/0 Module | @ Cable Length (m)| @ Stroke (mm)
w Ordering ‘PartNumber (Type, € Lead, @ Withor wio Brake)| - | €@ Motorounting Dimclion‘ - ‘ O Controller | - | @ 1/0Module| - | @ Cable Length ‘ - | @ Stroke ‘ 02
Example P ) . 1
RSD206B - L - C1 - N - 3 - 200 (Motor Mounting Direction: L) Wio Brake: Leave blank Straight: Leave Blank Point Control: C1 ’m‘,‘,g 3 50~300
RSD206B - C1 - N - 3 - 200  (Motor Mounting Direction: Straight) RSD2 06 - . Right Side Mount: R Pulse Control: P S 5
With Brake: B LeftSide Mount: L (DC24V +10%) CC-Link: C 10 (50mm Increment)
RSD206B - L - P1 - 3 - 200  (MotorMounting Directon: L, Controllr: P 12 DeviceNet: D (Flexible Cable)
EComponents: Actuator, Controller, Cable (®1) Choose the "With Brake" option for use in vertical applications. ((®)2) When the pulse train type controller is selected, the 1/0 type selection is not required.
5 ) 3
T M Accessory lDimensions / Mass
Controller I/O Specificati o~ B Motor Mounting Direction: Straight Motor Mounting Direction: R/L
Dhooess NPNPNP_ | CC-Link |  DeviceNet Type Mass Stroke (mm) Stroke (mm)
Y nstructon Manual (CD-ROM), Power Connector, Dummy Connector, 6 Mounting Nuts 50 100 150 200 250 300 50 100 150 200 250 300
- [ CC-Link Connector | _DexiceNet Comector L1(mm) 162.5 2125 262.5 3125 362.5 4125 162.5 2125 262.5 3125 362.5 425
Cable lRobot Material / Surface Treatment RSD2 L(mm) 270.5 320.5 370.5 420.5 470.5 520.5 209.5 259.5 309.5 359.5 409.5 459.5
Ci Body Rod Cover
- T - Stee 55 Mass (kg) (Note 8)[ 1.4 17 19 22 24 27 16 19 2.1 24 26 29
- - Rk (B uce Teement Acrylic Paint - - (®The brake adds 0.2 kg to the total mass.
Controller (Straight) M General Specifications HFAQ
‘ Isiuction Henua CD-ROM Ball Motor | Position Operating Ambient A Note Q1. The actuator does not move.
(Motor Left Side Mount) Scé‘g!w D:tefm" T‘Bﬁ%ﬂ:%’- Power interruption crcuit is not provided in this | | AT- When activating an actuator using Support Software or Handset Terminal, invalidate Option Parameter (No. 80). (Option Valid = 1/0 Terminal Valid, Option Invalid = /0
Stepping esolver o S controller in order to provide maximum flexibility for Terminal Invalid). Then turn the servo status "ON" and operate the homing procedure. After the completion of homing, start the operation by turning on "Operation”.
nantfnat b (C10 Rolled) Incremental] No Condensation, " S
Controller EER103~112 {C10Roled) { customer specific afety scheme. 02. LED light is on. Is there a controller defect?
listandard Specifications FAQ CE'P110 Please be sure to provide an external power interruption | | A2. Blue: PWR (OFF: Control Power Shutoff, Blink: Servo OFF, ON: Servo ON), Red: ERR (OFF: Control Power Shutoff / No Error Alarm, Blink: Error Alarm On (External
r ircuit and form an emergent ircut. For Circuit B
Type Lead | Positioning | Max. Load Capacity (kg) | Max. Push Force | Rated Running Life | Lost Motion | Rod Non-Rotational Stroke (mm) Max. Velocity®2 | Input Power | Maximum Sx;run‘ ;steoega_-‘eN%ge o) stop gt For i Facior)_, ON: Error Alarm On (Internal .Fador)
ypP (mm) |Repeatability (mm) | Hori Vertical N) () (mm) Accuracy (degrees) (mmsec) Supply Positioning Point P = R10S. Q3. Teaching cannot be conducted by via I/0.
02 25 25 500 ~80 A3. To conduct teaching via /0, the status needs to be ON for MANUAL Input and OFF for Interlock Input. Note that it does not function in the state of "Homing
RSD2 06 £0.02 40 12 300 S000KMOr | 0.1 or Less +10 o030 ~250 paa 255 points Incomplete”.
12 25 5 150 oe D) 2500 B3 Q4. Is low-speed operation possible?
(1. The Service life in the vertical use may vary depending on the load capacity. Please refer to the "Service Life Table." (¥)2. The maximum velocities may vary depending on the load capacity. Please refer to the "Velocity - Maximum Load Capacity Table." A4 Possible, however, 10 to 20% of max. velocfty is the limit depending on the lead.
15
M4x0.7 Depth 5 Lubrication Holefo Bal Serew - - q
{or e o) ll\ T R ‘ﬁe 22, miox1.25 W Velocity - Maximum Load Capacity Table
© . e
& ’ [$lo 3| S 6 17 02 60 ‘ 30
\ B A e S S— 1t | Reversed Mu\mS\ﬂzNweE & 50 25 ‘ ‘
) - ! g — = Lead 2 g ~——Lead 2
9.5 0 5/ 3 75 ‘ {Toot) (5: Note 8) g =4 —0ad 6 Z lead6
) o S
Arow View A M4x0.7 Depth 5 - 20(42.5+2 N Stroke Included Nut 230 \ —lead 12 | § 15 \ —Lead 12
(for Cable Mounting) Motor Side Home 45 S 20 N 3 } —
48 ‘Actuator Mounting Foot Plte (2 pcs = s 10
Approx. 250m (Cable Length) Plase sl as alerations) T Slot for 8-M3 § \\ ]
T 10| 4-M4x0.7 Depth 1 10 5
__ + v < (90° Equal Spacing) q 0
! ] 0 100 200 300 400 500 600 0 100 200 300 400 500 600
1t RS Velocity (mm/s) Velocity (mm/s)
1 * f =
T 95 L 7St Rnge) BalSCren e ;g M Service Life Table ®Rat_ed Runnlng Life is 5,000l.<m or more. For the following ypes, hqwever, service life
(Please specfy as alterations) (for Cable Mounting) L 2| varies depending on its maximum load capacity, and how it is applied.
Bt A = (Lead 2) (Lead 12)
E L+40 (with Brake) 6000 6000
“’1 s M3x0.5 5‘ o £ 5000 1 1 £ 5000
= =33 ~l = J— — 2 P
Enlarged T-Slot View  Square Nut for T-slot = 4000 N Lead 2 = 4000 ~—
D S 3000 N 8 3000 N
(6 pes. Included) 3 \ = ]
'S 2000 ~ 3 2000
5
L 425+2 atots % 1000 S~ 1000 - [cad 12
95 L (T Sot Range) 45 _ (8Phaces) 1 o ‘
Sea Note 67.5 L | |:tetey L.,25 4-06.6 Through 0 5 10 15 20 25 0 1 2 3 4 5
© | /@55 & WF"WZHZT " = Load Capacity (kg) Load Capacity (kg)
2C.0.53
o‘*ﬁ + 5 \‘A\@( ge-g T L
i \){/ i " M vl m_lm]g Days @ otor Mounting Direction: traight @ Motor Mounting Direction: R/L
© > L o — SIS
N =: ° KA—M4><0.7 S = to Ship { 7 ‘ Days } { 10 ‘ Days
( DePIh 10 2
~ T (80" Eoa g Actuator Mounting Flange X
2 % (Please specify as alterations) . ‘ Part | _ [Wotrliowing| _ [ Controller| _ ‘ 1/0 ‘ _[Cable | [gyoke |- (G.Eete
152 (with Brake) 565 | 15 Alterations B Number Diection Type Type Length @, )
Motor Left Side Mount RSD206B - L - c1 h N h 3 - 20 - G-E
Handset Terminal Handset Terminal Sugport Sotware Support Sotwere 1/0 Cable Cable for daisy-chain |Instruction Manual | Main Body Plastic | Actuator Mounting | Actuator Mounting
Standard Specification | w/ Deadman's Switch | w/ W/ b connection ME5: Body Color Alterations Foot Plate Flange
L 42.5+2 . 7 KE3:Controller (C1)
- 152 (with Brake) _ o [ T Slot for M3 4-Max0.7 Depth 10 ) ; - ] . / : -
112 (8 Places) | 56.5 _ 1.5 (90°Equal Spacing) Note 1. Load can be applied only in axial direction. Please use externally mounted guides together Alterations P - KE4.pontroller (P1) g )
] o avoid application of radial loads on the rods. Detailse=P120
\j ’ T © Note 2. Orientation of the wrench flats is not fixed in relation to the base surface. T Controller C1 =
= | W) | ~ Note 3. In order to ensure running straightness, use externally mounted linear quides. Commuicaion Specfcatos RS232C | Commuricaton Speccaions AS232C | TP: Controller P1 Length: 300mm
— 2 Note 4. Reversed Motor Side Home cannot be set in case of Lead 2mm specifications.
o o
& rﬁl [o] & % H 2 Note 5. The cable should be fastened without excessive strains. Code H D S R T/TP c MES/KES/KE4 BC HP vP
Qf b bS gl Note 6. The M4 hex-socket head screw can be utilized to fasten the cable (effective screw depth Acable tocomect mupe
et is Smm). o Handset Terminal wi Deadman's | Support Software w/ USB. ‘Support Sofware w/ D-Sub 110 Cable s inclded. Reqred for | contolles. . . . i 1 vertical
@ ‘ \ & & = Note 7. The minimum bending radius of the cable is 30mm. Spec. gﬁﬁg@;ﬂfmn Communiaton Caleisncude. | Commrication Cab i noed. | NPNJPNP confguratos, Upto 16 contollrs max.can be i?]‘;mgg" Manual s S:;:g;;h‘;imm PR horizontal mounting. mounting.
selet 818 | egitien ! Note 8. Th brake adds 0.2 kg o the messes. i ) PI03 113 | Sofains BPI08 113 | Spfcaiors BRI 113 PI03 113 | oo : : i B3 | Speatins B RIS
9.5 L. (T St Range) 125 | Note 9. Indicates the distance to the mechanical stopper. Speciicaors P11 113
Motor Right Side Mount 45 (For optional items, see 2¥P113.(®lt is more economical to order the optional items as alterations than purchasing them individually.
Motor Right Side Mount (DEntering point data requires the handy terminal or the support software. (®)An I/0 Cable is required for Parallel Communication 1/0 Control.
(®For details on daisy-chain, see 2P111,113 ($)Please select the correct I/0 cable type for the appropriate controller type.




